GOVERNMENT POLYTECHNIC, PUNE

ONLINE EXAMINATION TIME TABLE EVEN 2019

DATE	DAY	Time Slot	CODE	COURSE NAME
29-Sep-20 TUESDAY	TUESDAY	9 a.m.to 1.00 p.m.	AM381/ AM467	MECHANICS OF MATERIALS & STRUCTURES/MECHANICS OF STRUCTURE CE
			CM282/ CM262/CM263	PROGRAMMING IN C EE, ET,CM ,IT,MT
			AM384/ AM462/ AM470/AM4444	STRENGTH OF MATERIALS ME
T(OTAL NO OF PAPE	RS :-03		
				PROPERTY OF THE PROPERTY OF TH
29-Sep-20			AU482	COMMUNITY DEVELOPMENT CE
			AU483/AU363	RENEWABLE & SUSTAINABLE ENERGY EE/ET/ME/MT
	TUESDAY	2.00p.m.to 6.00p.m.	CM389/ CM563	JAVA PROGRAMMING I /JAVA PROGRAMMING CM.IT
	TUESDAT	2.00p.iii.to 0.00p.iii.	DD286	TEXTILES OF INDIA DDGM
			SC169/SC145	CHEMISTRY ME
			SC182	APPLIED MATHEMATICS-II ME
T	OTAL NO OF PAPE	ERS :-06		是一种企图,这个是一种的证明的,但是一种的证明的证明,但是一种的证明的证明的证明的
			AM382 / AM468	CONCRETE TECHNOLOGY CE
		9 a.m.to 1.00 p.m	EE281	BASIC ELECTRICAL ENGINEERING EE
			ET486	INSTRUMENTATION & CONTROL ET
30-Sep-20	WEDNESDAY		EE282/EE263	ELECTRICAL TECHNOLOGY /ELEMENTS OF ELECTRICAL ENGINEERING
			CM387/ CM566	ME MT DATA STRUCTURES CM IT
			SC142	
Tr	OTAL NO OF PAPE	P	3C142	APPLIED MATHS II ET
10	JALINOOFTAIL	1.300		
			CE382/ CE467	CIVIL ENGG. DRAWING CE
		2.00p.m.to 6.00p.m.	ME382/ME 461	THERMODYNAMICS & HEAT ENGINES ME
			ET483	MICROWAVE COMMUNICATION ET
30-Sep-20	WEDNESDAY		ME286	ELEMENTS OF MECH ENGG,MT
20 Sep 20		2.00p.m.to o.00p.m.	CM383/ CM463	COMPUTER GRAPHICS USING C CM
			IT381	DIGITAL TECH.& MICROPROCESSOR PRG. IT
			MA665	SUPERVISORY MANAGEMENT MT
TO	TAL NO OF PAPEI	SS:-07	11111000	SOLEKVISOKI MAVAGEMENT MI
		9 a.m.to 1.00 p.m.	CE482/	ESTIMATION & COSTING CE
	THURSDAY		EE382/EE462	ELECTRICAL CIRCUITS & NETWORK/AC & DC CIRCUITS EE
			ET285/ ET262	ELEMENTS OF ELECTRONICS ME/ MT
1-Oct-20			CM385/ CM466	DIGITAL TECHNIQUE CM
			IT383	DATA COMMUNICATION AND NETWORKING IT
				APPLIED CHEMISTRY ET
			, SC165	
			DD482	
TO	OTAL NO OF PAPER	RS :-07		HISTORY OF FASHION II DDGM
ТО	OTAL NO OF PAPER	RS :-07		
ТО	OTAL NO OF PAPER	RS :-07		
ТО	TAL NO OF PAPER	RS :-07	DD482	HISTORY OF FASHION II DDGM
ТО	OTAL NO OF PAPER	RS :-07	DD482 AM383/ AM469	HISTORY OF FASHION II DDGM SOIL MECHANICS CE
ТО	OTAL NO OF PAPER	RS :-07	DD482 AM383/ AM469 EE384	HISTORY OF FASHION II DDGM SOIL MECHANICS CE ELECTRICAL POWER GENERATION * EE
1-Oct-20	THURSDAY	2.00p.m.to 6.00p.m.	DD482 AM383/ AM469 EE384 ET286	SOIL MECHANICS CE ELECTRICAL POWER GENERATION * EE PROGRAMMING IN C ET
			DD482 AM383/ AM469 EE384 ET286 ET484	SOIL MECHANICS CE ELECTRICAL POWER GENERATION * EE PROGRAMMING IN C ET OPTICAL COMMUNICATION ET
			DD482 AM383/ AM469 EE384 ET286 ET484 ME384/ ME464	SOIL MECHANICS CE ELECTRICAL POWER GENERATION * EE PROGRAMMING IN C ET OPTICAL COMMUNICATION ET MECHANICAL MEASUREMENT ME BASIC METALLURGY MT
			DD482 AM383/ AM469 EE384 ET286 ET484 ME384/ ME464 MT382	SOIL MECHANICS CE ELECTRICAL POWER GENERATION * EE PROGRAMMING IN C ET OPTICAL COMMUNICATION ET MECHANICAL MEASUREMENT ME

			CE483/CE563	IRRIGATION ENGINEERING CE
3-Oct-20	SATURDAY	9 a.m.to 1.00 p.m.	EE383/ EE464	ELECRICAL MEASUREMENT/ ELECTRICAL MEASUREMENT AND INSTRUMENTS EE
			ME383/ ME462/ ME469	FLUID MECHANICS & FLUID MACHINERY ME
			MT466	NON CONVENTIONAL MACHINING PROCESSES MT
			MT383/ MT462	MATERIAL TESTING & QUALITY ASSURANCE MT
			CM388/ CM565	OBJECT ORIENTED PROGRAMMING CM IT
TOT	AL NO OF PAPER	S:-06		
				果你妈妈你的身边,我可能没有这些情况在15点的现在分词
3-Oct-20			CE384/CE463	SURVEYING-II CE
			EE388	TRANS. & DISTRIBUTION OF ELECT ENERGY EE
			EE561	DIST.AND UTILIZATION OF ELECTRICAL POWER EE
			ET384	ELECTRONICS INSTRUMENTATION ET
	SATURDAY	2.00p.m.to 6.00p.m.	WS381/ WS461	MANUFACTURING PROCESSES ME
× 1			MT483/ MT562	FOUNDRY ENGG MT
			CM381/ CM461	OPERATING SYSTEM CM
			IT384	RELATIONAL DATABASE MANG, SYSTEM IT
TC	TAL NO OF PAPE	P.S08	11304	
10	TALKOOFTATE	700		
			AM481/ AM566	THEORY OF STRUCTURES CE
			EE387/ EE463	ELECTRICAL MACHINES - I/DC MACHINE TRANSFORMER EE
5-Oct-20	MONDAY	9 a.m.to 1.00 p.m.	ME385/ ME465/	THEORY OF MACHINES AND MECHANISM ME
			ME467	
			MT384/ MT463	METALLURGICAL ANALYSIS MT
			EE283/EE262	FUND.OF ELECT. ENGG /ELECT.TECH.ET,CM,IT
	AL NO OF PAPER	LS :-05		
			10.000	PROJECT MANAGEMENT CE
			MA663	PROJECT MANAGEMENT CE
			EE390	ELECTRICAL MATERIALS AND WORKSHOP EE FUNDAMENTALS OF ELECTRONICS EE
			ET261	PRODUCTION TECHNOLOGY AND CAM ME
			WS481/ WS561 ET281	BASIC ELECTRONICS / ENGG ET
5-Oct-20	MONDAY	2.00p.m.to 6.00p.m.	ET465	POWER ELECTRONICS ET
			MT385/ MT464	EXTRACTION OF FERROUS METALS MT
				MICROPROCESSOR FUND. PRG. AND APP. CM
			CM462	COMPUTER NETWORKS CM
			CM386	OPERATING SYSTEMS IT
			IT385	OFERATING STSTEMS II
10	TAL NO OF PAPEI	(2) 1-10		
			CE484/CE564	ENVIRONMENTAL ENGINEERING CE
	TUESDAY	9 a.m.to 1.00 p.m.	EE483/ EE562/ EE	A C MACHINES EE
			ET383	APPLIED ELECTRONICS ET
			ET561	COMMUNICATION SYSTEMS -1 ET
6-Oct-20				IND.STRIAL HYDRAULICS AND PNEUMATICS ME
			ME483/ ME562	
			MT386/ MT465	EXTRACTION OF NON FERROUS METALS MT
			ET284/ET262	FUNDAMENTALS OF ELECTRONICS CM IT
TO	TAL NO OF PAPEI	RS:-07	,	
			A11261	ENVIRONMENTAL SCIENCE CE (TWMODE)
		2.00p.m.to 6.00p.m.	AU361 EE264	ELECTRIFICATION OF BUILDING CE
				INDUSTRIAL CONTROLS AND CONTROL PANNEL DESIGN EE
			EE570	ANALOG COMMUNICATION ET
	THE PROPERTY AND		ET385	ENGINEERING MATERIALS ME
6-Oct-20	TUESDAY		MT388/ MT468	
			MT482/ MT467	ELEMENTS OF PHYSICAL METALLURGY MT
			CM483	SOFTWARE ENGG CM CLIENT SIDE SCRIPTING USING JAVASCRIPT IT
	7.59 85 184		DD484	EMBROIDERIES OF INDIA DDGM

				TO THE THICK THE PROPERTY OF
			CE386/ CE465	HIGHWAY & BRIDGE ENGINEERING CE
			EE389/ EE566	INSTRUMENTATION & CONTROL EE
	WEDNESDAY		ET386	LINEAR INTEGRATED CIRCUIT ET
7-Oct-20		9 a.m.to 1.00 p.m.	ME486/ ME565	METROLOGY AND QUALITY CONTROL ME
			MT484/ MT563	POWDER METALLURGY MT
			CM484/ CM564	ADVANCD COMPUTER NETWORKS CM
			IT483	PRG USING .NET TECH IT
	- Luc or pubre		11403	· 1987年 - 1985年
TO	TAL NO OF PAPER	S :-U/		
			CE461	CIVIL ENGG. DRAWING CE (ORALMODE)
7-Oct-20			ME281/ ME262	ENGG GRAPHICS CE ME MT(ORALMODE)
			EE583	ELECTRICAL MACHINE DESIGN EE
			ET388	DIGITAL ELECTRONICS ET
	WEDNESDAY	2.00p.m.to 6.00p.m.	AU486	E COMMERCE CM
	100		SC362	ENGINEERING MATHMATICS III EE ET CM
				SOFTWARE ENGINEERING CM IT
			IT484/CM567	INTRO.TO FASHION MARKETING & MERCHANDISING DDGM
			DD485	INTRO. TO PASHION MARKETING & MERCHING OF
TO	TAL NO OF PAPE	RS:-08		AND THE RESIDENCE OF THE PROPERTY OF THE PROPE
				CONSTRUCTION TECHNOLOGY CE
			CE387/CE466/468	
			EE482/	POWER ELECTRONICS & DRIVE/INDUSTRIAL ELECTRONICS EE
			EE467/ET449	POWER ELECTRONICS ET
			ET387	COMMUNICATION SYSTEMS-II ET
8-Oct-20	THURSDAY	10 a.m.to 2.00 p.m.	ET562 ME485/ ME564/	
			ME485/ ME566	DESIGN OF M/C ELEMENTS/M/C DESIGN & CADD ME
		77	MT485/MT564	METAL WORKING PROCESSES MT
				MANAGEMENT INFORMATION SYSTEM CM IT
			MA487	WATCH
TO	OTAL NO OF PAPE	RS :-07		
			ME201/ ME469	MACHINE DRAWING ME(ORALMODE)
	2		ME381/ ME468	
8-Oct-20	THURSDAY	2.00p.m.to 6.00p.m.	ME463/ME443	MACHINE DRAWING AND COMPUTER GRAPHICS ME (ORALMODE
0 001 -			ME221/ME261	ENGG. GRAPHICS & AUTOCAD ME(ORALMODE)
	CENTRAL CENTRAL	CDC - 02	1110,2211	
1	OTAL NO OF PAP	ERQ :-02		
		10.00p.m.to 2.00p.m.	CE485 / CE565	CONTRACTS AND ACCOUNTS CE
	1 21,014		EE487	UTILIZATION OF ELECTRICAL ENERGY EE*
				PERIPHERAL INTERFACE CONTR. /µc BASED SYSTEMS ET
			ET488/ ET564	INDUSTRIAL AUTOMATION ET
0.0-4.20	FRIDAY		ET765	REFRIGERATION AND AIR CONDITIONING ME
9-Oct-20			ME581/ ME763	HEAT TREATMENT OF METALS & ALLOYS MT
			MT486/ MT565	RELTIONAL DATABASE MANG. SYSTEM CM
			CM487	RELIIONAL DATABASE MANG. STSTEM CIT
	TOTAL NO OF PAP	ERS:-07		
				AND MED MATTER HE OF ME MT
			SC281/	APPLIED MATHS III CE,ME,MT
		2.00p.m.to 6.00p.m.	ET389	MICROCONTROLLER & APPLICATIONS ET
9-Oct-20	FRIDAY		CM583	WEB TECHNOLOGY USING JAVA SCRIPT CM
			DD584	CREATIVE FASHION PRESENTATION DDGM
	TOTAL NO OF PAI	PFRS:-04		
	TOTAL NO OF FAI			
			EE484	TESTING & MAINTENANCE OF ELECT EQUIPMENT EE
			MA483	ENTREPRENEURSHIP DEVELOPMENT ET
			MA482/ MA661	IND. ORG.& MANAGEMENT/PRINCIPLES OF MANAGEMENT CE ME
10-Oct-20	SATURDAY	10.00p.m.to 2.00p.m.		SCRIPTING TECH. USING JSP CM
10-001-20			CM585/ CM767	SER.SIDE SCRIPTING USING PHP/PRG. IN PHP IT
			IT582 ET741	SWITCHING SYSTEMS & NETWORKS ET

			AM581	DESIGN OF STEEL STRUCTURES CE
			CE462	SURVEYING-I CE
		10 a.m.to 2.00 p.m.	EE485/EE564	SWITCHGEAR AND PROTECTION EE
12-Oct-20	MONDAY		ET586	EMBEDDED SYSTEM TECHNOLOGY ET
			MA486/MA666/	
			ME726	TOTAL QUALITY MANAGEMENT ME
			MT582/ MT762	SELECTION OF MAT. & FAILURE ANALYSIS MT
			CM482/ CM761	JAVA PROGRAMMING II /ADV. JAVA PRG / CM, IT
			DD581	FASHION FORECASTING DDGM
			ET469	FUNDA, MICROCONTROLLER& MICROPRO, ET
TO	TAL NO OF PAPE	RS09	31 (5)	
			AM281/	ENGINEERING MECHANICS CE,EE,ME,MT
12-Oct-20	MONDAY	2.00p.m.to 6.00p.m.	AM261/AM241	
			MA668	MANAGEMENT INFORMATION SYSTEM CM
ТО	TAL NO OF PAPE	RS :-02		
				自然是 物质的 医多种多种多种多种的 医多种不足的
			CE385/ CE464	HYDRAULICS CE
March 1		returner 2000 Ferren	EE488/EE768/EE761	ENERGY AUDIT AND CONSERVATION EE
13-Oct-20	TUESDAY	10 a.m.to 2.00 p.m.	ET382/ET462/ET441	NETWORK ANALYSIS ET
			ME583	TOOL ENGINEERING ME
			MT583/ MT763	WELDING & MODERN FORMING PROCESSES MT
TC	TAL NO OF PAPE	RS:-05		processors supported by the contract of the co
				中1976年1976年1976年1977年1976年1976年1977年1977年
		10 a.m.to 2.00 p.m.	CE583/ CE763	RAILWAY & TUNNEL ENGG CE
	TAMEN PRO		EE581	INDUSTRIAL AUTOMATION EE
	WEDNESDAY		ET581/ ET761	WIRELESS COMMUNICATION/WIRELESS AND MOBILE COMMUNICT
14-Oct-20				ET CONTROL ME
14-001-20			ME484/ ME563	PRODUCTION PLANNING AND CONTROL ME
			MT585/ MT765	ADVANCED PHYSICAL METALLURGY MT
			CM485/ CM764	COMPUTER SECURITY CM IT
			MA488	APPAREL MANAGEMENT DDGM
TC	OTAL NO OF PAPE	RS:-07		
			CE582	ADVANCE CONSTRUCTION TECHNIQUES CE
			ET390/ EE466	
15-Oct-20			E1390/ EE400	DIGITAL ELECTRONICS AND MICROPROCESSOR EE
15-Oct-20	THURSDAY	10 a.m.to 2.00 p.m.	ET482	AUDIO VIDEO ENGINEERING ET
15-Oct-20	THURSDAY	10 a.m.to 2.00 p.m.		
15-Oct-20	THURSDAY	10 a.m.to 2.00 p.m.	ET482	AUDIO VIDEO ENGINEERING ET
			ET482 ME482/ ME561	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME
	THURSDAY OTAL NO OF PAPE		ET482 ME482/ ME561	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME
			ET482 ME482/ ME561	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT
			ET482 ME482/ ME561 SC283/ SC463	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT
TO	OTAL NO OF PAPE	ERS :-05	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE
			ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET
ТС	OTAL NO OF PAPE	ERS :-05	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME
ТС	OTAL NO OF PAPE	ERS :-05	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT
ТС	OTAL NO OF PAPE	ERS :-05	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766 CM486	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT SOFTWARE TESTING CM/IT
16-Oct-20	OTAL NO OF PAPE FRIDAY	10 a.m.to 2.00 p.m.	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT
16-Oct-20	OTAL NO OF PAPE	10 a.m.to 2.00 p.m.	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766 CM486	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT SOFTWARE TESTING CM/IT
16-Oct-20	OTAL NO OF PAPE FRIDAY	10 a.m.to 2.00 p.m.	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766 CM486 DD583	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT SOFTWARE TESTING CM/IT RETAIL PROMOTION DDGM
16-Oct-20	OTAL NO OF PAPE FRIDAY	10 a.m.to 2.00 p.m.	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766 CM486 DD583 MA481	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT SOFTWARE TESTING CM/IT RETAIL PROMOTION DDGM CONSTRUCTION.MANAGEMENT CE
16-Oct-20	OTAL NO OF PAPE FRIDAY	10 a.m.to 2.00 p.m.	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766 CM486 DD583 MA481 EE587	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT SOFTWARE TESTING CM/IT RETAIL PROMOTION DDGM CONSTRUCTION.MANAGEMENT CE MODERN ELECTRICAL TRACTION EE
16-Oct-20	FRIDAY OTAL NO OF PAPE	10 a.m.to 2.00 p.m.	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766 CM486 DD583 MA481 EE587 ET487	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT SOFTWARE TESTING CM/IT RETAIL PROMOTION DDGM CONSTRUCTION.MANAGEMENT CE MODERN ELECTRICAL TRACTION EE COMPUTER NETWORK ET
16-Oct-20	OTAL NO OF PAPE FRIDAY	10 a.m.to 2.00 p.m.	ET482 ME482/ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766 CM486 DD583 MA481 EE587 ET487 WS581/ WS562	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT SOFTWARE TESTING CM/IT RETAIL PROMOTION DDGM CONSTRUCTION.MANAGEMENT CE MODERN ELECTRICAL TRACTION EE COMPUTER NETWORK ET CNC & ADVANCED MFG / CNC & UNCONVENTIONAL MFG ME
16-Oct-20	FRIDAY OTAL NO OF PAPE	10 a.m.to 2.00 p.m.	ET482 ME482/ ME561 SC283/ SC463 CE584/CE767/CE770 EE584/ EE764/ET751 ET584 ME584/ ME773 MT586/ MT766 CM486 DD583 MA481 EE587 ET487	AUDIO VIDEO ENGINEERING ET POWER ENGINEERING ME ADVANCE PHYSICS MT CONSTRUCTION EQUIPMENTS & MACHINERY CE MICROCONTROLLER AND APPLICATIONS EE INDUSTRIAL AUTOMATION ET AUTOMOBILE ENGINEERING ME MODERN FOUNDRY ENGG MT SOFTWARE TESTING CM/IT RETAIL PROMOTION DDGM CONSTRUCTION.MANAGEMENT CE MODERN ELECTRICAL TRACTION EE

20-Oct-20	TUESDAY	10 a.m.to 2.00 p.m.	SC361	APPLIED MATHEMATICS-III CE ME
			EE486	ELECTRICAL EST.& COSTING / ELECT.WIRING AND ESTIMATION EE
			ET485/ ET563	DIGITAL COMMUNICATION ET
			ET287	BASIC ELECTRONICS MT
			CM586	NETWORK MANAGEMENT & ADMINISTRATION CM IT
TO	TAL NO OF PAF	PERS:-05		
	MONDAY	2.00p.m.to 6.00p.m.	AM482/	ANALYSIS & DESIGN OF RC STRUCTURES CE
			SC282/SC342/SC322	ENGINEERING MATHS EE,ET,CM,IT
20-Oct-20			EE470	ELECTRIC MACHINES AND CONTROLS ME
			AU484/AU364	ENGINEERING ECONOMICS MT
			DD281	ELEMENTS OF TEXTILE DDGM
TO	TAL NO OF PAI	PERS:-05		

IMPORTANT INSURTUCTION FOR STUDENTS-

- 1. The Final Time Table for Summer 2020 Examination for students of regular diploma who completed term work for 180 credit and noncredit courses and students of part time diploma who completed term work for 180 credit courses is displayed on Institute website gppune.ac.in for the information of students, institutes and all concerned.
- 2. Examination for backlog couses shall be conducted in 2 slots of 4 hours each as displayed in above Timetable .

Slot-I - 9.00am-1.00pm and Slot-II - 2.00pm to 6.00pm

- 3. For regular courses and backlog courses appearing at same slot on same date of examination shall be conducted in 1 slot of 4 hours from each as displayed in above Timetable. Time Slot- 10a.m. to 2.00p.m.
- 4. Link for Examination of a particular subject will be available only during the specified slot as displayed in the above Time table.
- 5. Students should note that actual duration of paper is 1 hour.
- 6. Students should strictly follow the guidelines for MCQ Based Online Examination which will be published on Institute website gppune.ac.in
- 7. All backlog students should check for the equivalent papercode of their appearing courses, available in this timetable as per the Hall ticket and appear for the same.

Principal, 25/9/2020
Government Polytechnic, Pune